(FRHLE 4 —@DRMNELE)
[A] KEZDOREICEBTI2RE1MABOZTLS

F BDELS M

[B] §MITE108M512AA05%ES

SHMTE10BNELS

SHTE11BDELS

SHTE128DFELS

H B H|XH

At

[C] §MIxTE10ANL12ADEHFTLEE

H

(B] =3

(1) ZE1MARDFTE LS ORED

[C] A — [A] M <100 =

[c]) M %

[D] t&E [A] OHRE 2 AAMDRERAARLES

F BDELS

£ A0ELEs

H B | H

&5

[(A] [D] [A+D]

! ! !

(0) REIMAMOTEELESORELER (RERAH)

[B]) H — [A+D] M

(5] - x100 = %

ERRDESYHEEDHY FEA
T =3 R =]

EF/Rr

2t8 (BS)
RREKA El

(k) BEHFEICHI > T, Lo LEA 1L EH GRERSR LRRR L) ORHALEL




